! AR | '. '-.r 1 e i S e r Sk
a5 ' y s S AR A AN
‘1 E h i t’ . ‘P ﬂr—l. :-—-t j::.-_:- ~' ~"|'-. el vl Ao

iy _n.u......_u.nr__.....p..u ......_.-..H......._..-.n.u:l-. LI E = lae

*frs (Written)

*01. ST CRIDH AT n FRT ATrd @otwe T2 14 (1 +3) + (14 3 +32) + -
AN U, =1+3+324...430-1_3"-1_ 3" 1

3—-1 2 2

n_ -
S =ZUn =323" = 3(1) =1 3+32 43 4.4 30) -0 =1 2D 23D 2 (ans)

02. T S ewere st 5 5 wra s 10 6 oh 27w «=vem ARrmE 67 e Bag e 2@ @i ot (i 459
QP 2T T Tt FRm) @ e vo Sty epete I3 RS AR ?
A TSI (¢ B) 7St (¢ )

4 2
3 3
2 4

-, ST JRIR AT GG CAT AT = 5C4x 5C, + 5C3x °C3 + 5Cyx °C4 = 200 (Ans.)

03. x-93 AT Sa9F 20 Hd <7: sint (cnt"l tt:)

+x  1+cosz@ 2 cos? 0 _ 1+4x
HAAYH: 4, x = cos20 . = cot?0 . O =cot™! |[—

—x 1-cos20  2sin20 1-X
| 2
. sin* (cnt'1 ’-E) = sin*@ = (sin®B)* = E- (1- cusZE)] = % (1 —x)?
- -1 (1 —'i—d-(l—x)2=r-l(l—-x)x2=-1-x2(x—1]—£—1-(ﬁ )
= sin* | cot =7 ; : =X i
04, y=x""UxTAAMIFTA, x%y, + G —2n)xy; + (n— 1%y =0
ANy = x2 nx;y; =x"% + (n — 1)x"Inx
:{}rl-= " 14 (n—=-1Dx"Linx=x"""+Mm—-1)y
y, = (n—2)x""2+ (m—1{n- 2)x"73, Inx + x" 3}
X%y, = (n —2)x" 1+ (n— D —2)x"nx+ (n— Dx"! = 2n - )x"" 1 + (n — 1)(n — 2)y
x2y, + (3 — 2m)xy; + (n — 1)’y
—(2n-3)x""1+ (m—1)-2)y+ (G -2n)x"" +(n - 13 - 2n)y + (n — 1)%y
= (- 1)(1-n)y+ @m—1%=—m—1)% + (n—1)%y = 0 (proved)
05. W= RdTFas flﬁx cot™x dx

d
Wﬂ:fxmt‘lxdx = cot™1x fxdx—f(-d—x(cnt'i X) J'xdx dx

x?cot™lx 1 14x3-
+= :

=£;cut_1x_'r_1:ﬂ 'Izdx-l-cl T 2 2 1+x2 dx+ﬂ1
Iimzt ~+3 -rdx—'fuﬂ Ci=xzcnzt_1x+§_§tan‘1x+c
f *xcot~1x dx = ﬂ:“; 11+§-——tan'1x]r
_3x ¥ _1x_1x 1,13_¥31,
2’6 2 23 24 2 24 2 12
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BUET SR el %i 2 »

*(6. 1239WW%WQ%MQT@WWWWWHWWWI

07.

08.

09.

10.

11,

EICICK

2]1239
2|1619-1
21309-1

2[154-1 - (1239),, = (10011010111), (Ans.)

773?3—? Q¥ (10011010111), = 1x220 + 1x27 + 1x26 + 1x2* + 1x2% + 1x2' +1

2[19-0 = (1239),,(Ans)
2[9-1

2[4-1
2[2-0
2[1-0
01

(T oYU T WCF (A9) OfF SAWY 107 T FHUGA T W3 SAR TS ¥ 10; $o7807 Seafaset @
T Ay =

TY: 4, ST "—z-+ﬁ=1; a5

*GACS, 2b = 2ae (i) 2O #Ii2,b? = ale? :,.§=1-§.-.§=1 .-.e=-j§
_— - 2
=h=ae-0 Jor=a(1-f) | 2a=100a7=100 | afem 242 = 1 (ans)
aR-=10 = 5a = a® (1—5_“ s b* = 5x10 = 50 R
2_ . - az) 2 __q_50 1
= b* = 5a... (ii) ~ O, &L=l —rm=2
:S—a(l—;)

G I G5 T (S TS Ol @01 — et T | OSIF 2Tty TSt AT 2 At ofd TG oot
O& (SH TACO AE?

Arv? = v2 — 2as, 4, (vo =22} = v2 — 2as, At 228 — y2 _ 226 - 2as. = 19V
: o 1 o~ To 0 13, 5 = Vo —2as; . 2as; = —

sy _ 19 100

WA, va —2as, =0 . 2as, = v2 .2 =— . 2="—==75263 (&) .. (B 5B ©FII (Ans)

59 100 51
SRS AN 9FR @UE 7' W (IE<F P @ Qmat:ma 8 o AN «pfG I AT OB Farz | IR

To1g R e it I IR Y0 =, 3 PR = 3 RQ 70 W Q Rre o1%f P fRrqrs 5191 Seoiet 325 aliw-6em
@& = o @RIoY soe AT o9

STYE: fod T0@ AR, xx6 — 2x(x + 325)

:-ﬁx=2x+650=>4x=650=m=152.5 ‘r l o
R, A zee o}, = =2 A, o=

£ x+3 25

- W =650 &I¥-9% (ﬁms.)

30kg ©wEF GG IF 21.8m WWWWWWWWW|WWWW 1030
feTatel-e T <80 Fmid W4y Foud 28 7r97? }h
AATYI: T 911 F© e = SfSH&ET A397; F.x = mg(h + x)

(F —mg)x = mgh= {(1030 — 30)x9.8})x = mgh=x = 20:98x218 = 0.654m

1000x9.8

GG (FIF O LY WA QI IACE 491 G 4m/s 5ifSre (G OF FAE1 | (7 II9 IFI0A CorRead wael
S 6m A &, f6F of s Imif® 1.2m/s2 TG AN e bl OF I 1 (N0 SF TR TS @0 I
IAGH CoMRTTA el (T 10m A TS SIRLe 6 @7 M0 490 AR ?
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12.

*13.

14.

*15.

*16.

17.

18.

g 4 0 B C
—_— A2 !
47, ¢ e fffe = AC = 4t f5IEF =42 — 4 x 0.6 X 6 1.6::-[]&*
BC =21 x12xt2 ~. TFAetd 9it e & e | O @it IEbeE $are AR |
=2 x1.
AB = 4t — 0.6t* = 0.6t> —4t+6 =0

4 (IPET AT '220V — 1000W' @11t Stz | TR 200V AR IF W 2 T0! 5901 T© 200 [ge *IfF 496
IAR?

2 2
FAY: R = ——434& | W =Pt="Wh=22x——KWh = 1.6529KWh

JIANSTEA BT 0°C ST 2 kg ITFCF 7 2/fFe® F900 sy o kj-9g 6w 11 [Aifa sieeifs o

= 4.2k] kg™'k ™, T9F SR St = 336k] kg2, iiff = NS J&SIof = 2268 k] kg™

FAYR: 9T — A, Q; = mly = 2x336 = 772 K] |

0°C #if — 100°C #1f¥, Q, = msA® = 2x4.2x100 = 840 k]

100°C “tfN — 100°C I, Q; = ml, = 2x2268 = 4536 K|

(0 ©1%, Q = Q, + Q, + Q; = 6148K]

1.55 &fSSTaItea W3l 315 (I 936 Tretas 1= Lot Tt F A7 TSN i Il [PIE AN I 1 AW TR
CFIFT GG 20 cm T, Bd 9 &SR 14 T F37?

YA BTSIGe @91 6, f = 420 cm

TFER AL r T,z = (- 1) (3+3) === (1.55-1).2=r=22cm

OFC I TOT 36 km @0 Sf" Toig facy Pt 0o (TS SR0ITE 59 SI9gr SIF1eel | 98 '@ ofd ed) 999 @effE
0.2 = 30 33 S=1gw SEE i Sfows qayg H4a $41

A Fy = p R = p, mg u =36 Km/h = 10ms™!
o4, a = K = peg = 0.2x9.8 ms ™2 v=_0
m
2 w2 . _u=-v== 102 2
.vé=uf—2as ..s=— -y 25.51m

GG R @Y ¢ GG I AT GFR eE AT 36 km/h @R 18 km/h @t veR ] e
600 Hz FICea @ Tesy a0z 93 5ifS 340 m/s T 0T IMIE oy T4 2F T AR R
YT e =Ha FIE AT T

AAHH: u, = 18 km/h = 5ms™! u, =36 km/h = 10ms™*

et A, = Sk f = 22" x600 = 626.866 Hz

v—Lug 340-5
Sfoweda 29, f' = v f=S—r x600 = 573.913 Hz

9=fB qa 20 B BF A AR T AP TR ArerFio TRy O 2 kg @32 4T A ears 2 B
0 AR ez AR e FferfE Rgeefere aeicie oo e Ry s s 60 eTib
e S eeglre =4 IMI?

WF__h=M““““_7B4w P = nP' .'.n=§=%—13067~13ﬁ

ﬁmaﬁﬁﬂmﬁuscﬂﬁc@(ﬂmmﬁﬁmﬁwﬁ ) JCAG FHI [IHd (A9y IAIAT S FC |
Toe= M6 110 5T 1 @3 50 FoH i) FrSRieTa fenarzaria afmist st o= wofHe G @ oy 7o




12.

*13.

14.

*15.

*16.

17.

18.

A A 6 B

— —C
4fH, C e e o Ac = 4 oM =42 —4x06x6=16>0

BC =2 x12xt2 . FReifoa 7 I o RV | ©iR CEIRio IO 47T A |
AB = 4t — 0.6t = 0.6t2 — 4t + 6 = 0

AT (APET JATS 220V — 1000W' =1 Tz R 200V 3 TF 20 2 51 50 6 286 [gpe =& 496
FAE?

2
AN R = %—: 48.40

| W=Pt="tWh =222 KWh = 1.6529KWh

48.4 1000

TSI 0°C SR 2 kg T7TCE I “Afcre Fa0e @iy ot kj-« [ a1 [=nfa= Seaitss o

= 4.2K] kg™ k™, I9% 1R JSOI9t = 336k kg2, “Hifa ISR @it = 2268 k] kg™*]
T T9F — M, Q; = ml¢ = 2x336 = 772 K]

0°C AN — 100°C A, Q, = msA® = 2x4.2x100 = 840 kJ

100°C #if — 100°C I}, Q5 = ml, = 2x2268 = 4536 k]

G ©1%, Q = Q; + Q, + Q5 = 6148 k]|

1.55 AfSTRITEFT AT 6 (AT GF6 BTG (7751 Lo Fa1 T T ToF 77 IS APAE 70 I | 3y =iioa
CFIFT 1Y 20 cm 2, {97 IFO S T ZE?

ANY: SrSEe &7 01, f = +20 cm

TR e r A, 1= (- (2+3) s 2=@55-1).2=r=22em

G ¥ oI 36 km @01 ofig Boig ey Pieee @ite @re SRt 39 S<gy S| 98 '8 ofid Wudy 98 odliw
0.2 (=1 3BT F= g =i +td wfeerrs g e =

TTEI: Fie = R = pyemg u =36 Km/h = 10ms™?
- = F—K = — —2 —

oM, a = = n.g=0.2x9.8ms v=0

C o2 — w2 i WV L 108 S

SLVe=uc—2as .S = T = Sibaven 25.51m

QIS 3@ WER 8 GFG I IqT 92 M IAFE 36 km/h 932 18 km/h @t 5oz I Qe

600 Hz F=IITEH R 7 TR A S 340 m/s I AR IMSce Afod F19 L @ +ta A3 WD)
THT IS A IAF T

SRSz o, 7 = Tk f = 2 x600 = 626.866 Hz

v=1lg 340-5
L Y—ui, _ 3"“}—1[] -
ifsarTa o, £/ = L0kt = 2020600 = 573.913 Hz

G5 37 20 FBRE Tf TR ML QA MR @R AT AR ©F 2 ke @32 I 24F6 G@cs 2 ©
T A @R Afaeern e e Ryeifers woikfe o S fgeites siymy s 60 ©ns
s IS eEglrs 41 AE?

s p = T2 = 22OBR - 784 W P=nP' in=2=20213067 ~ 13

t 1 Pr

TR

| 141 !




19.

21.

22.

23.

; P — P = a =3 ‘_1_:': r'-'..._-l-
& ] o ! 2 T i Pl £ '."I-:-‘ Fjh
1A TR E SR g ' ) RPN T e Y
3 ] | i 3 % sl s it
S . | . & Ll e TR
Py . 1, | _".;_-..' - 14 '.,.l.-‘:. ke s T,
g P g i -
]
T1tten
SE4lE: I'l |

930 S HEH Fifrer 250 atm 519 7y T340e “iia | HREreRS 125 atm 519 @32 27°C SrANAY SfHcem a5
T[N AT O ov@ay PRt Rgifae zE?

P P X
T T =22 o T, = 220 = 600 K = 327°C Ans: 327°C

125
& G, sl ARy ford, g3
(2) SRR NaOH TITeid 7 Tue w3t =2
AT Al + 3NaOH — Al(OH); + 3Na; Al(OH), + NaOH - NaAlO, + 2H,0
(b) o= 2 Y NaOH 97 BITT G ST 27 ZH |
FAAEA: 2NaOH + Cl, — NaCl + NaOCl + H,0

(c) CHCl; 99 ©~{¥fors pareta i’ NaOH fRferat w4t =)

OH
CHCI CHO
te: (O)—O0H + NaOH — H,0 + @’ + NaCl
R |G B G CE A

(d) H,0, 9g 3 erEia [fer sar =
Y H,0, + 0, = H,0 + 20,

(e) TEY WERHN @RS TAfFSrs caieiizs SiErei3s 3 mﬁﬁmww|

cL CH;—CH-CHj,4
Y C3H, 1+ {O) ——— HI+

25°C orua® AgCl @9 100mL 3@ BItF AL 0.030 M NaBr @9 100 mL G349 Q1 T4 ZCE11 | HYTH 0O T
=7 [ WTRs K (AgCl) = 1.0x10719; Ksp(AgBr) = 5.0x10713]

ANNE: AgCl = AgT +Cl7; K;, =8 - NaBr - Na*™ + Br™
s.S= "l“{sp = -‘/1:{10—10 — IQ‘EmUI‘/L e [BI'_] = [Nﬂ+] = 0.030M

—% + -, L
- [AgT]=[CI"] = 10—M AgBr = Ag" +Br™ " K, =5

%@, [Ag*] = 10~5M; [Br~] = 0.030M S= JK—!‘-IJ = V5x10~13 = 7.07x10""M

gact Agt @ Br~ SEAe Al STispiagld AAfasmet seorw @ $I% AgBr SYsewe tof 21 )

G0 2 TN RIFTF GF-o1 avmoﬁﬁtﬁ'wmuﬁ%mﬁamo%wwﬁwﬁ@w|
A ([RE 2 5T @ Rt o I TR 100% T2 @ M ekt = 2 A =AM t=a
e e e offSfo st stota & arTafae Rfdrarmz it

(a) arifeere (Rrife fem)
st {Op—O0H + NaOH —— {O)— ONa —— {O)—0 — CHj + Nal
(b) GHITATAAIE
stargr: {COp—OH + PCls - €1 — {O) +POCl, + HCl
(c) Prafae ufiie

NQg 2 NO
Ttr: OH <O +3HNO; ——— \©’ 2 +2H,0

NO,

(d) FriferafezRe

sratat: {O)—OH + CHCl + NaOH —— @7&10 + NaCl + H,0

RN 142 {5 AT e 2




I LIAIH, SI% SR ~nfiw e Rt 0 Li(Al) (OH), 757 3091 S 16 SIS SRy IRT 941 <
QI H CORR &1 LiAIH, + 4H,0 — LiAI(OH), + 4H,, | 377 SiF s R 91 7@ |

(b) TP ITS s ol BRI T9E G TR 5130s Sie?

T feBETers == ATe BATS T TN 71et 2ofd v | g 1M toff 3@ siw 1 Tt WS S4aet <2 30
“IvT Rowet 58 3t @b AfRTPTS fres Zre fEbarers aaiem gt

22.4mL JAGIFIRF GfFTETE epfiis T 0.10 N Na,CO, BT 25.0 mL STres 201 200mL @fits To5 ~if
QI T BTG 534S 0.10N 1?7 Sewe #HaeT Srors <

SnaxV ;
TN Sy == —2 = =28 = 0.112M; V;S, = V,S; = 200x0.112 = V,x0.1 = V, = 224

>, GO IS R (224 — 200)mL = 24mL

B AT FTF G, @Y ¢ B! IS 20m, 10m €2 Sm. AAH FHDTS F6 RS ISFT ATR? ST
ST 30°C 99 S ©9 29

TARI: V3o = (20x10x5) = 1000m? .22 =32 =, = 22 %273 = 900.99m’
(] 30

_E _ V. 90099x1000 T _

n=y=57 B= — x29 = 1166460.326 g = 1166.46 kg

(a) SItEd F5a T NSt 7 Frete

MEIRICE
| =
I J

(i) PG (i) AR (i) S FTF (iv) P

(b) Write the structural formula for the following compounds:

CH, Cng -OH
CH-OH OH—<: :)—NH
i OH | COCH
CH,-CH-CHj, CH, —OH :

@ (Written)

Read the following passage and answer the question numbers 28-29 that follow:

Some people love to watch television sitting alone in their living rooms in the evening, There are others who pass
time, engaging in gossip. People who temporarily withdraw their attention from their immediate surroun dings for the
pleasure of building castles in the air are not at all hard to see. Even the most fidgety children enjoy sitting quietly for
an hour or two and playing computer game. All these are nothing but pleasurable diversions. Amusements can,
therefore, be of wide variety. One cannot imagine living a life without some form of amusement now and then. An
amusement, of whatever type it is, makes time pass pleasantly.

Now, of all the amusements which can possibly be imagined for a hard working man, after his day’s toil, there is
nothing like reading an entertaining book. It calls for no bodily exertion, of which he has had enough. It relieves his
home of its dullness. It transports him to a lovelier and more interesting world of scenes and beauties. And while he
enjoys all these, he may forget the evils of the present moment. It accompanies him to his day’s work. If the book he

has been reading be anything, above the very idlest and lightest, it gives him something to think about during the
drudgery of his everyday occupation.

AT &SI Ry F *bel, ..
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If I were to pray for a taste which should stand me in good, stead under every variety of circumstances and be a
source of happiness and cheerfulness through life, it would be a taste for reading. Give a man this taste and the means
of gratifying it, and you can hardly fail to make a happy man of him. You place him thus with the best society in
every period of history, with the wisest, the bravest and the purest characters which have advanced humanity. You
make him a citizen of all nations, a contemporary of all ages.

Indicate, whether the following statements are true or false. If false, give the correct information.

(a) Reading an entertaining book requires somebody an amount of physical labour. Ans : False
(b) A taste of reading is a sign of culture. Ans : True

Ans : True
(d) All books give the readers something to think about. Ans : True
() Anything that people do for pleasure is an amusement.

29. Fill in the gaps with the correct form of verbs provided.

(c) Diversions are needed to break the monotony of life.

Ans : True

An amusement has such a delightful effect that even the most fidgety children become perfectly gentle when they (a) are
occupied (occupy) in it. All amusements (b) are (be) diversions, but of a pleasurable sort. Life (c) is (bc) something very
dull without some kind of diversion from time to time. People (d) engage (engage) in one diversion or another according

to their taste. If any case, a diversion is most welcome because one () can pass (pass) time pleasantly by taking part in
it.

30. Fillin the blanks with appropriate idioms / phrases given below:

burnt his finger, long odds, being off and on, thrown out of gear, brought to light, falling flat, hit the nail on the head,
sitting on the fence, turned a deaf ear to

(a) The strikes have thrown out of gear many of our important industries.
(b) He is by long odds the greatest short-distance runner in the world.
(c) He is accused of sitting on the fence as he never takes a side in any argument.

(d) Trouble is surely awaiting him as he turned a deaf ear to the instructor’s advice,
(e) The investigation has brought to light some startling facts.

i + SREE + AT + 2 (MCQ)

01. «F P& T Skm @5 Taq s 10 kmﬁmal?lﬁ?rﬁwﬁwaﬂﬁm 12km =¥ Q51T ( ©F G @ T© A7

(a) _z?zkm per hour (b) gkm per hour (c) 2—"{:Tkm per hour (d) None of the above

A (¢) 5ty =5 = 2hrjt; = 3hr; S = V102 + 122 = 2V61 .- et = Ezf = z‘f—l kmhr-1

02. 10 Tb CATHT W32 TR UF0 AT TR (y I9RF) IR @EAIAT SR | 0 20T G AE 219 v (@0 (1 O
(x TAIIR) VI FTATS TF ST (AN FLETY &ATET (@7 F©7

@v (b) — ‘/Iz_:fi}rv (c) — iv (d) None of the above
W:(c);v=%x;: }[z+}72=102ﬁ2:{%+2}’%=0 }’w‘
=}xv+y%=0 =:i—3;= —ﬁv(ﬁns.) o
03. 36 T SET 9D 7w/ o [ = 7= emmet Fwes a W% a7 @t 951w 15 /.. 9fa Aa?
(a) 4.2N (b) 4.5N (c) 2.5N (d) 2.8N
HAYMY: (¢) ; 9 qﬁi = 15:;:;“ ms~! ..F=ma= 15;:;;:::51‘4 = 2.5N
sz, 222090 = axt = ax60 = a = 0

3600 3600=60

N |6 R




i -.-'1..:. 3 i '.".‘
Bt | ;
AN :
.- ! ‘.'Il-‘-".' e
EALEE )

04. Mﬁm I THIECS 3 csrﬁ'f mww mﬂﬂm@w*fmmﬁiwmﬁwv

(a) 1cm (b) 1.5cm (c) Zcm (d) 3cm
TRII: (a) ; AT (o Farg = O=D° _ 3x@-1% _ 4.
2n-1 2%x2=1

05. 20 (& ST 9T IFT ANY 6 7B &y 7o & O & TR FERE AIST @A Y AT 45° T (I
T T | AR B 218

(2) 10v2,10VZ kg — wt (b) 20v/Z,20v/2kg — wt
(c) 20,20kg — wt (d) 10, 10kg — wt
_ T» 20
TAEIE: (a) 5 — mﬂ =l =—— LTy =10V2; T, = 10v2
06. OI*l ATATIT TLT YIge wﬁaaﬁmﬂnﬁmwﬁﬁﬁsmozsnﬁﬁ s | A QDT aEng 7 AL
B4 OUE JaE TH @R 9|
(a) 49cm? (b) 11cm? () -3'-::1112 (d) 10 cm?
AAHE: (b) 5 tﬂ?m.'?{ —=0.25; A =nr? ::% = and—= 2xnx7x0.25 = 11cm?
101010
107, R REPT e 100101
(a) 1001 (b) 1101 (c) 101 (d) 1011

AqYIH: (c) ; Calculator @9 Base mode use FLJ|

08. Wi AT Fassin18° 4 cos18°
(2) sin 36° (b) —V2 cos27° (c) Fsm 27° (d) V2 cos27°
JYF: (d) ; Calculator IJIRAF I |

09. IYi¥ <dstan20tan®=1,0<6 <>
(a) 30° (b) 60° (c) 0° (d) 45°
FAATYIA: (a) ; Calculator GIRIT FLH |

0 s GO 7 W12 ASTS SR S (AR qar T 8 WizeT Aifere #{Tda e vt S | ©fF o1 +ifs i @
(a) 7.5 miles per hour (b) 7.66 miles per hour (c) 7.33 miles per hour (d) 7.47 miles per hour

Y (d) 5 ty =E; t, =§ .-.t=§+§=5 (1-]-1) e @7 = — (? 1 = 7.47 miles
11. aw@aﬁtﬁﬁﬁﬁaﬁmmﬁﬁw@wwmmﬁwﬁﬂmﬁﬁmwﬁﬁﬁ
o T 9T TR R
(a) 1.0 (b) 0.992 (c) 0.905 (d) None of the above
EIEI 29
SAIGA: (c) ; STORTST = —-x —x 7= = 0.905 (Ans.)
12, 0.41 IR AT e e eSS FeT Ahear Ae
(a) 10110 (b) 0.01101 (c) 011.01 (d) 0.00101
0.41x2 = 0.82|0 1 oa 5 _ 0560
Y (b) ; g giﬁ = i 3; 056x2 = 11211 - (04110 = (0.01101),
13, w R J; W
(a) 1 (b) 4 (c)3 (d) None of the above
2 ~4xdx d
TAR: (0) 5 J7 g % = 5 o fogmi = 3 2 =9 — 22

— —;—:-:2 [*Jg = zlen == [1..“3 - 2}(2]2 = Ex [\{9 — 2x0 —+/9 —~ 2::221 =%[3 —1] =1 (Ans.)




15.

16.

17.

18.

19,

20.

21.

22,

J-l tan™1 x

dx 9T 99 YI-

0 14x2

()

(b) o

YA (¢) ; fl _in xdx = f tan~? xd(tan"'x) = [(ta“ *%)° ] — [(tan‘1 1)2 — (tan~1 0)% = = _z_= n?

ﬁmm‘fﬂtﬁﬂﬁma [M2 cosoX 40

16 E

/3 sm'*’x
(2) 1 (b) ;5—2 (c)0 (d) IEE
STEE: (d) ; [/2LEX gy dx = [? cot® 2g dx = — [? cot® x d(cotx) = [™° cot® xd(cotx)
n/3 sin’x  “In/3 Ot” Xcosec X ax = n/3 ~ Jn/2
_ cotBx /3 1 6 1
_[ 5 ]“;E_E[(ﬁ) =) ]=EH 152(An5)
. - - ~he
o sin~! = — cos™? = = 2tan™! x T, O x O N J3
1+ab -b
(@)a+b (b) :h (c)a—b (d) la-l-ah
w2
et i+:= =2tan"lx =2tan"'a—2tan"'b = 2tan"'x
“l.  pap—11 _ -1 g 85D ey . | A=D
— tan™"a —tan™'b = tan™'x = tan —1+ah—tan X S X=T—

g% cot? 0 + cosecd — 5 =0T, 490 4§

(a) 0° (b) 30°
AHIS: (b) ; Calculator 12T T
(—V3, —V/3) 9T I FAIF Fo?
@ (6.3) ® (V3.5)
YT (c);r=vV3+3 =

V6, tanf=1 . 0=

g, IR 0 < 0 <§aaw 0 9 TH J(J2
(c) 45° (d) 60°

0 (2%
= [gSm oSt gaEs (V6, =

@ (6.5)

xe” =y + sin? x G &Y (3 00 T GRRECT
(a) 1 (b) 0 ©e (d) <
FAAIY: (a) ; xe® =y +sin*x T, e +xe"5’(y+xdx =-j—;+sm2x :D(un} =e’=1
— 2x + 5 G 7PTST A 3
(a) 3 (b) = (c) 4 d)5
T (€) ;X2 —2x+5=(x—1)2+ 4 .. TTOT I AT IAR@ IR (x — 1) = 0 ... PO T=4

AB = 31 + 2] — k 932 AC = 51 — j + 2k WSfitea 7’6 I A ANRRFT cvag=1 $97

(a) 17.748 sq. units

ST (c) ; (31 + 2§ — K) x (51 — ] + 2R) =

(b) 13.379 sq. units

<. ANRBREE 7w = /32 + (—11)2 + (—13)2 =299 =

The value of IEEn :::_"1 is :
(a) o0 (b) 1

xZ+X ez
STAI: {c),xEEn a1 ,;!";Eu __z_; 2
LICREERE T F Lt 2“sin —
() 2 (b) y

(c) 17.2916 sqg. units (d) None of the above
i ] Kk o
2 —1|=3i-11j-13k
5 —1 2
17.2916
(c) 0 d)3
(c) 2Y (d) y?

*fqEr=q oIy Waya +Idpel..,

R 146 1 N




24.

20,

26.

27.

28.

29.

30.

31.

32.

sinll';

YA (b) ; xEEu 2“51!‘[ , -an —%L y=y = (yx1) =y

&y el —1 a+bx
Evaluhate S ¢ [y =tan lh_“

a 1 1
( ) 1+x2 (b) ah+x= (c) 1+x2 (d) abx?+1
. . = ._1E+h}t_ -1 %‘H‘f _ _1 8 _ . dy_ 1
YA (c) ; y = tan = tan Ij—iﬁ-—tan tettanTix o=
x* +y? = b (5x — 12y) J0 WiEFe 1 7 57 T 71w 1 3791 e st =pfafa siltew Ay o=
(8)5x+12y =0 (b)12x -5y =10 (c) 5x — 12y = 0 (d) 6x — 13y = 0
= (5b _'1_"1."h_ sh . L _ 5

T (0) ; (h,K) = (2 =(2,-6b) ni=2= -2

~12x+ 5y =0 (M) .."”I"ﬁ’Sx—lZy=D
K I3 919 0 T 3% + 4y = K FF0R40, x2 + y? = 10x 9@ M I917?
(a) [40,—10] (b) [—40,10] (c) [50,—10] (d) [-50, 10]
TN () ;%2 +y2 = 10x= (x=5)2+y2 =52 . @% (5,0), r=5

[ = 5= (15 = K)? = 625 = 225 — 30K + K? = 625 = K2 — 30K — 400 = 0
= (K—40)(K+10) = 0 .. K = 40,—10
4x + Sy — 7 = 0 FFEERE BT ¥ 91 (1, 2) ot sieemcadia silteqe 2=e
(@)4x+5y—7=0 (b)Sx—4y—-1=0 (c)5x—4y+3=0 (d)4x+5y—10=0
THEEA: (€); 5(x—1)—4(y—2)=0=5x—4y+3=0
@ ToReea a3 BT ¢ el T TR g 16 2R 93 o Serrafaet <; Torren S rew
oy [MfT =4
(a) 12.5 (b) 15.3 (c) 19.2 (d) 18

2h?

TAYH: (c) ;5 —ae = 16 = (§—§)=16:>a=15; b? =a%(1—e?) =144 .. ¥ =""=19.2

12 2
Y=2x+cmT+%=1Ewwmtﬂ§Wﬁﬁﬂl
(a) 19 (b) 25 (c)7 (d) Nonc of the above
A 3x% + 4y%2 =12 =>3x% + 4(2x + 0)? =12 = 3x* + 4(4x* + 4cx +¢?) = 12
= 19x? + 16cx + 4c? — 12 = 0; QT (THEEF = 0 FJ|
(16¢)% — 4.19.(4c2 —12) = 0= 64c? — 76c2 +228=0=c2 = 19=>c = V19
y2 — 6x + 4y + 11 = 0 RIS SCFA TR T F91
(aAy=0 b)y+2=0 (c)6x—7 =0 d=x=0
AMYE: (c) ;y2 —6x+4y+11=0=>(y+2)°=6x—7 .. TF,y+2=10

(xz -2 +xlz)ﬁ O FRARC x IS *MD 7 F© 7

(a) 832 (b) 924 (c) 492 (d) 294
6 12 r

TAYIE: (b) ; (xz -2+ ﬁ) = (x —i) i Trgr = "Cr.x™T, (—i = OC.. (=1)r.x0-2r

n-2r=0 .r=7=2=6 . xS W= 12C;.(~1)® = 924 (Ans.)

x? + ax + b = 0 TN 0 T IR A 27 93 591 FRFT 3% + ax + 8 = 0 7 9B T I 4 W, ©A@ b
OF T I

(a) 4 (b) 8 (c) 9 (d) 12

TAY: (¢) ; WU PAB =7 =2 ~a=—(2+4) =6 |

24 AT, . D= (=6)* —~4b=36-4b=0 . b=2"=9 (Ans.)

WA ={x:x2-5x+6 =0} 9B = [x:-: —9 zx_:}}mmﬂ B qq I TS




34.

26.

(FY
]

39.

41.

42.

[ £z

(d) @

(a) {2} (b) {2,}' |
(:x2=9,2x=4}=¢ A— B = {2,3}(Ans.)

TR (b) i A= (xix? = 5x+6=0)={2,3)B=
QD W wTo IR ROTEIR LT G R FoetE T4 Bl (I #Hi?

(a) 45 (b) 35 (c) 50 (d) 60
HNIYR: (b) ; I = "C; —n = '°C, — 10 = 35 (Ans.)

=7 + 241 QAT LI |
(a) + (-3 + 4i) (b) £ (3 + 41) (c) % (3 — 4i) (d) £ (—3 —4i)

R (b) : V=7 F 241 = /32 + 2.3.41 + (41)% = /(3 + 41)? = £(3 + 4)

logx logy logz
The valucof |log 2x log2y log 2z| is-
log 3x log3y log3z

(b) 0 (c) log> (d)1

X y ~
logx logy logz log (i) g (;) oz | | , p
ST (b) ; |log2x log2y log 2z log (;) log (;) log 2z| [c{ = ¢y —C;,C3 =Cp — C3)
log3x log3y log3z log ('::) log (%) log 32
1 1 logz

= log ( )]ug (Y) 1 1 loglz|=0 WWEE@WG@W?IWW‘H]

1 1 log3z

= 51 A5 rEE WYy ST SR 2.0x108ms 2. A *fw afowTaiE F© JI?
(a) 1.00 (b) 1.33 (c) 0.67 (d) 1.50

(a) Iugg

FIA: (d) ; Cp = 2x10°ms™; p, = —=—==1.50
+12 @322 diopters =To! 79F 7’6 @™ AT AT QoW 90 Zrel 1 @ AR G (FIFF 793 FO

z3?

(a) 10 cm (b) 12.5 cm (c) 15cm (d) 18 cm

1 1
FA1TA: (2) ; Py =%= +12D; P, =%= -2D .. F_—+-; +12—-2=+10D=F=—m=10cm
1.5 2feanEa 9 I A0 947 G ST (o7 IS AN A 1077 CILFC | I 0T JFQ A3
(2) 10 cm (b) 20 cm (c)30 cm (d) 40 cm

x 6 — —
TAR: (b) 5 p, = é =C, = 3_% = 2x10°ms™? .. d = Cyt = 2x10®x10~°m = 20 cm

66.3 eV *Ifeza G0 (oA eI T%F O 7
(2) 1.6x10'°Hz (b) 1.6x101¢Hz (c) 1.6x101%Hz (d) 2.6x10%6Hz

x10—17
TATYH; (b) ; E = 66.3eV = 66.3x1.6x107*°] = 1.0608x107%7] .. f = E = L0608x10__ _ 4 6x101¢Hz

6.63x10~34%
ZTRATTAA WATY 4.5%10° 9841 99 7G Y 97
(a) 3.11x108 years (b) 6.48x10° years (c) 6.48x1078 years (d) 2.22x10™years

T 4,5x10"°
A (b) 5 T = - ;;z n.: - years = 6.48x10° years

G fB AT A A CPIET Ag 0.15m. A (B W aew ag 0.25m 2, O e [ e

(a) 1.67 (b) 2.66 (c) 0.86 (d) 3.67
AR (b) s M =1+ 2 =1+ = 1+ 1.66 = 2.66 3
*43. @ T ©fte oFtad Glgel 3x1074V/m e QoS S0 GIEE CFiee Olge! @ FH?




(c) 9x10*°W/m? (d) 1x10~ W /m?

[Ans: d]

(a) TFTIT FRIGTAR W4T 7262 40T TR Ffat sreeitfers
(b) SrETRA a1y @, ©i% Ao Tarm 4o e, 91z “heTt @1
() CFITRR A AR Fysrr 2ger g ot foane Sives ey ot T =1
(d) TR “fets ofee, T Foites oat =0
45. o AT I6ATS 3 @zT 6 @ivEy TR & Witz T 3 9T @Y ©fee 2=tz 4 nifine <, SR 6
O @A 7' & g »i1dey oo 7q?
(a) 2V (b) BV (c) 24V (d) 12V
TAIYI: (¢) ; ARE 720 @Y &1z 933 O3 V = IR = 4x6V = 24V
46. UGS AR ZEFT 5x10™11m MR TOIFR 102 &S GRTT 6.8x101° IF YRR | J0IT (FTH (O1FF CHER

RIEEISE:

(a) 2.01x107"°Wb/m?  (b) 13.67 Wb/m? (c) 8.54x10Wb/m? (d) 12.56 Wh/m?
1 ‘R — Pol _ Mol _ HpQf _ 4nx1077x1,6x1071%9%6.8x1015 =

AN (b) ; B = 2r  2eT 2r 2x5x10=11 = 13.67 Wb/m™*

47 OIGS SRR 1 37 330 L TT0dR «hfb SIRCs a1 Tl el | 9% J00R CFUH (19 O T T8
@7 OF > (efe @35
AYS: (a) , QHKA, L= 2111':&2r=E;B ="2—ﬂ:= “’Lﬂl

48. ﬂﬁfﬁh‘a‘lﬂwm 100V SHIA1R TA0E 2A ©fbe 2J1% SR TS S| @ AT 8 Ot TOAR ST Spoite
1: 20 T T PEAICS SR 212 742

TH,
L

(a) 20A (b) 40A (c) 0.1A (d) 10A
Y. (b) ; Is = 2A; nping =1:20 .'.!IE=:—; = Ip = 20x2A = 40A
*49. =g o B g cifetd e ufhity o, ©4F [Ans: b]
(a) *I% SACHA (YT SIS g5 AF (b) T AT SAS & 2w
(c) =i T SIS T A (d) === oIS “ffaada =

50. O TSGR 0.5m =171 SIEE Toid 50N B 39 fararie | 39/ IS 200N w31 74, T ©em w=iss
(a) increased by 100%  (b) decreased by 100%  (c) increased by 300%  (d) decreased by 300%

W;&=JE= 200 s f, = 2f, = £, + 100% £, (3%)
"y Ty 50

S1.  87.23°C @3 I fAfiE ~IfEmret oIyt 261 eifire et e e foedt 31 20| pora e 2w
(a) 0°C (b) 45°C (c) 10°C (d) 25°C

- Y-1 0.4
T: (2); VY =TV = T =Ty () =36023%(3) = 273.003k = o°C
S2. Lﬂﬂsﬁ?:ﬂ_@[ﬂ Cﬂsﬂﬁm@ 5amp — 22 vultﬁIﬁWWI @ ﬂ@lﬁmﬂw 100 watts 4q =0 99 994a <41

qeg?
(a) 10 (b) 11 (c) 22 (d) 20
HAIY: (b) ; P = VI = 220x5 W = 1100w;n=11"a”u_“_-_11

#fETETHT HETCH 1FINT AT




53.

*54.

55.

56.

57.

*58.

59.

60.

61.

62.

63.

&M G Teraa ﬂﬁ@iﬁwﬁwwwﬁmm maasrm%"@?{mu 1074T $-GIFF CFER T AfS
o Sitaa Toig g s
(a) 107%N (b) 103N (c) 10~*N (d) 10~°N
NI (b) ; F = I#B = 10x10~*x1 = 10~3N
300Hz TTE G SRERT (IR AW TS Feed KA 83cm I CITY 2nd SFEAW ST T 1 07T @
EIG
(a) 332 m/s (b) 996 m/s (c) 330 m/s (d) 320 m/s
TA: (a) 5 f = 5 ; = v =7f =3x300x0.83 = 332 ms™
O “HAF 30m/sec SHETT B e o ot T #iE0 TwEis SHo CAlRITS T araiTas
(a) 0.326 sec (b) 3.26 sec (c) 30.6 sec (d) 3.06 sec
T (d) ; WWWWWWW@WWt- - = :[; = 3,06 sec

-ﬁcﬂr-as3oﬁﬁa%wﬁﬁﬁaﬁmﬂmzuﬁtﬁrﬁmmﬁﬁ?ﬂﬁwmmwﬁmmqﬁﬂ%ﬁm
DTS AT | (A TR TV T IS FIHT RFANDR GoF FICe AT &ifare

(@) 9 joule (b) 6 joule (c) 44 joule (d) 18 joule

AN (a) ; Ep, = mgh = 2x3x9.8, ] = 58.8], Ei = 50]; T T IS = E, —Ex=88] = 9 joule

6000 SFIET U0 (WIoF 10 TS & it i =7

(2) 6.0x10% joule (b) 6.0x103joule (c) 6.0x10%joule (d) 6.0x10%joule
I (d) ; W = Pt = 6000x10] = 6x104 joule

BOOK oiMiaig uaib I8 *Ifes et varz ) [T 16 @t ware 2o g Siv@r Barre zas

(a) 1600°C (b) 1600K (c) 3200°C (d) 3200K

4
TRAY: (b) ; = = T—l) — T, = 2x800 = 1600k
r <
20°C 932 100°C SIAT@AREE 47 Fiiwe G TG 2féea et 13

(a) 0.8 (b) 4 (c) —-0.8 (d) -4
_ (100+273)—(20+273)
AT WFel, n (1004273) = 0.214

2wg Option ST WCHT (LR ©&F 74| L9 100K 8 20K e &9 TS 0.8 |

qfo A I8 A% 725 20 200m. e 78 e o Swety gl ?

(a) 25 m (b) 50 m (¢) 75m (d) 100 m
TG (b) ; tan a = -5 => H= Rtan o L 200xtan 45° — 50m

G0 e (39 37, K) ﬁmﬁﬁm ﬂWﬂﬁwwﬁ G o7 gy ot fRwd | Sifteeq = Fefoa
FIF 3 I T972

(a)=K (®)=K (c) 3K (d) 2K
L _ Kl _ K3
T (2) 3 22 = ot = k.;: 2 W Fy=2k
T &R T RO 785N @R TR 7Y 298N, TR IO SSFRT (R OOl TS7
(a) 2.63 N/kg (b) 6.09 N/kg (c) 3.72 N/kg (d) 9.81 N/kg
ST (c) ;E—; =% = S = E; = —x9.8=3.72Nkg™
Wﬁﬂtﬂﬂﬁﬂﬂt‘[”ﬂﬁ?{ﬁfﬁﬂ?ﬂﬁﬂq [Ans: c]
(a) AArESt (b) FEfSFIoITet (c) *[UoH (d) e

*f44S=a o1y Wy H4oHET,..



63.

66.

67.

68.

69.

70.

71.

72.

73.

1..::_-_ . .:’1?'"7‘*" 'IE"-I ‘l-i_"n' :_:—! o e :
BUET QT R B ié;u B
e D I i + (R
64. ATD CIIC CATELIT 74T 25.6% % 21 A 97 e IEd 3% R
(a) 12% (b) 24% () 5% (d) 50%
. T2 _ |L T
TN (a) 5 3 = L= m=V1256=1122T, =(1+012)Ty =T, +12% T,

GG FRE IR Q4 cFtem 50 W@ T Imm a3 SRR GRE™ 10 99 o4 CaeeTd 19 ¥ SE 1 6]
CFLER SIHAR 7F FO7?

(2) 0.01 cm (b) 0.01 mm (c) 0.05 cm (d) 0.05 mm
FNY: (b) ; V.C. = mﬁmi;:%mm = 0.01 cm

SRR CHLTH 10 N9 TR O CHFCAT 19 WIS A 20 ST | iR SIffaia cHera 10 ¥ T CFeTq 9 qoas STl
YT TN T 0| S SF© ATF A AT 1 Taa A1

[EEACEEE 115 R IR T v [Ans: a]
(2) I B2 (7 ¥ wioa vt fRofie e wiwie (b) F9iA w2 oy 3R wer ues fars arams

(c) for T s RPFR ¥ oo Rl e wraww (d) fony oo oy /B 76w w2 fies «iRwi=

200m AT 936 G 36 knv/hr TS 5157 600m WY W3 Fw wfewry o=@ BFEb wfowy Fare Gaba F© 7
QRIS

(a) 80 sec (b) 100 sec (¢) 120 sec (d) 140 sec
TAY: (a) ; v = 36kmh™! = 10 ms™%;s = (200 + 600)m = 800m; t = > = = = 80s
2: 1 SATss [ [ 6 ARE it e Corem Sfofie sitem Seie ¥ 3?7
(a) 1: 2 (b) 1: 4 (c) 2:1 (d) 4:1

4T

AT
W:(a);P—:={1T-=’—==§ “PP=1:2

LS

A=2i+2]+ ka3 B = 6] — 3] + 2k T B TARA A 7 717 WSrHA T3

OF )3 OF @2
AL (2) ; 17 SfOrF9 = |A|cosd = % — g
A Q@O STEF @t sifoHie 9Ti6 TG S8 [m, = (75T g AeTRG10a o)
(2) = mq (b) 2 m, (c) VZm, (d) 4m,
A (@) ; m = lm:,f-l = jﬁmn
—
T @ *{f&d AT TAFCS [Ans: b]
(a) LT~ & MLT"? (b) MLT~2 & MLT 2 (c) LT~2 & MI2T2 (d) MLT~2 & ML-2T-3

weie e o 50g e A I 20cm/s QT G006 G FFOR Giat (I 10em/s @t v e
tuc oo BIGERICKISE

(2) 0.015 kg — m/s (b) 0.005 kg — m/s (¢) 0.15kg —m/s (d) 0.05 kg — m/s

HAAYL: (2) ; P = m(v — v,) = 50x1072 {10 — (=20)}x10"2 = 0.015 kgms?

52 IFAGTET T (G T G4 ?

(a) SFEeTaIGT (b) FTCTEN (c) ¥ro9 (d) TETGITEH

T (d); S SfE o7 AT 747

S{BIBrTT-«a R A2 aife 19 2 [Ans: b]

(a) AT (b) @S () =W (d) =

sAfaadr=a SSI [y Aol




75.

76.

77.

78.

79.

80.

81.

82.

83.

g84.

85.

fAtes I EIIT%@‘ oﬂ%m‘m:m? N

[Ans: a]
(a) LI (b) “516 (d) RNA & DNA
SIER NGFOR TN SR 6T @G 7
@ F>Cl>1>Br (b)Br<F<(Cl<lI (c)I>Br>Cl>F (d)I<Br<ClI<F
TN (d); 9T S0 TS Boita TN 17, ©© S AeigTs! AT |
ARTSs (1N $ Wb tew dlitsia ey o «ar=w? [Ans: a]
(a) A ste=m (b) T sfEAIE (c) CAFIR TACE TSt (d) SRR QRS SaGirel
M= N, SRl Rt 400 ce=e «F sinmiagy wieT | Ao @i fBat M aae N «F T il 8w#iH 90 AlE?
[Ans: d]
v R
(a) TR >’ ._ (b) G ;><
“ - e
- . :
X 5
(c) Sy — (d) T 1;? § R
T - T
A5a @0 &Ewa “5rers omrd? [Ans: c]
(a) Na,S,04 (b) CaCl, (c) Na,CO, (d) NaOH
I R 2.0 gm H, HF F00 Pon & «{fFwrt Fe @7 araes za?
(2) 4.185 gm (b) 51.86 gm (c) 41.85 gm (d) 83.70 gm
STIYI: (c); 3Fe + 4H,0 = Fe;0, + 4H, .. 4x2gm H, = 3x55.85gm
59 @ S79 ST frarg? [Ans: b]
(a) i © g=EIZE (b) =i @ 4= (c) =i @ ccl, (d) #i1f¥ @ CH,COOH
IGCERS A CITRICT K T [Ans: c]
(a) =71y [Aeiey
(b) 2/SIIF AT AR AR #AfFER TS A 1
(c) G ST a *f& o @ o AfrTels oo @i
(d) 2R Al *ifera «fFaSa o i
I X 97 SRBLAERE Y 93 6T GE9 T, OIRgee [Ans: a]
() Y 99 (6TH X 92 I Biof At 932 ~go1% FU I
(b) X @7 6T Y G AT B1*1 @t @32 ~F51% T T3
(c) Y @ (BT X & AW 519 W32 "G5 Toug @ =
(d) Y 93 (5T X 97 I 519 @I I-ASIA O @ T3
ATIYI: "EoAF BT TBHoF |
sp? HeHS WARGITT IFA I T2
(a) 109° (b) 122° (c) 107° (d) None of the above
TAYIF: (d) ; T e 120°
T AHAAE I (STF T O 59 *IfF (AIgS, T ofe [Ans: b]

(2) TR T (b) CfE= =7 (c) T=ifFafe® AT (d) o= @GR At




BUET SRyIess B
86.

87.

88.

89.

90.

ol.

92,

93.

94.

9s.

96.

IUPAC fAT53 FR{De S1efire e | - [Ans: a]
(a) International Union of Pure and Applied Chemistry

(b) International Union of Pharmacists and Applied Chemists

(c) Intermational Union of Professionals of Applied Chemistry

(d) International Union of Pure and Advanced Chemistry

T SR THfEfre @ fem @ aifirm Rftrmn toft = [Ans: ]
(2) Chlorobenzene (b) Toulene and HCl gas  (c) Gammaxine (d) Chlorobenzene &water
(a) Fr (b) Cs (c) Na (d) Al
AR (a); GFR T TS A5 IS T, B Y, 4Gt A0S | [FF T FaFq Cs, T Fr (Sawq]
fAee 1 AN wmifRfEa s R 3w wikGiReEss Sy 3w? [Ans: c]
(a) CH3;CHO (b) CHgﬁCHg (c) CH,COCI (d) CH;CH,O0H
0

g {O)— NH, + CH;CCl (O)— NHcocl + Hel

————
o9 (N Gl F19 ol ? [Ans: d]
(i)CH,F, (ii)CO, (iii) CF, (iv) CH,COCH,
() i and ii (b) i and iii (c)iand iv (d) ii and iii

FAYA: CO, @ CF, TIRCoile ST F 0|
Pb;Ca,(As0,)Cl TS As OF TR FALRTIe

(a) +3 (b) 0 (c) +5 (d) -5
AAYA: (c) ; AsO, CIE QA IH AsOy, = =3 =>x—8==3=>x=+45

e [feraa Swotee o1 (92 [Ans: d]
(a) T SR faralt Ifa 41 (b) R YT =9 3w =

(c) waB% fATea feFm gfa <=t (d) SFGCEH fora 3 <t

1 atm B1? @92 25°C SIN@y 9 FAAE Sera Ata 16g Fedd, 14g FRGIEE € 44g FEF ©IZEABE i
W% 1 @I A S b9 g ?

(a) firzas (b) T 2TGITE
(c) T TIETHZG (d) F7eT STICTR ST 51t ST
STT: (b); Firegeet T G Sttt i, i e wtet i
CH
IUPAC #%f® ST ATa qifoa 1378 CH3 — CH, — {[:l — ICH — CH, —CH,4 [Ans: a]
CH2~CH;
(a) 2, 3 — diethylpentene — 1 (b) 3,4 — diethylpentene — 4
(c) 3,3 — diethylpentene — 1 (d)‘ 2 — ethyl — methyl butene — 1
fAtea @Ffore IR o4l AfFte AT IN? [Ans: c]
(a) Cast iron (b) T™i© (c) 20T =TIy (d) AfEBIRA T
TG JBTS ATCS “AITae [Ans: d]

(a) HNO, & HC] (b) H;S0,& HsPO, () H,CO; & HC (d) HNO, & H,SO0,
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99.

100.

101.

102.

103.

104.

105.

106.

107.

108.

ﬁtﬁfﬁﬁﬁmﬁaamﬂ%&mﬁﬁfﬁﬁ? o [Ans: c]

@r:";’.@i @’ ,@l’ o

b cl . o T oN Y. cl

(ﬁ)@i (h)@l ©) /@/ (d)
NO, NO, O,N

i1 AT SRt BARSTS 797 G ST 8 qFE FRHRR qbires it Tog T4 W O3 93
I Y SRR T 90 TG (@ cof 71 Riwniivee e =3e [Ans: d]
(a) Elimination reaction  (b) Addition reaction (¢) Hydrogenation reaction (d) Condensation reaction
U1 BB CH I EASE R R E S R R U [Ans: b]
(a) STST T (b) T (c) Giteia Aie fFmt 9@ (d) #13ea e faman <ea
NT6a 19 BITIF pH AW @2 [Ans: d]
(2) 0.01 M HNO; (b) 0.01 M H,S0, (c) 0.01 M HCI (d) 0.01 M CH,COOH
c2iliow e us it AME Je s sre 2 SyefHe bt | 7 [Ans: d]
(a) S=IG ceifo (b) Ffer canfos (c) ST &b (d) FSIRRT® o
fF8EA (C,Hy,) & IO SATHH BHl WA F967 CO, @ H,0 B9 771 1.5 @fe C H, o (ATE S (W16 CO, TR
=7
() 6 (b) 4 (c) 8 (d) 10

HANYA: (a) ; CoHyo + 7.5 0,= 4CO, + SH,0; 1.5 mol C4H;o = 1.5x4 mol CO,

1.0 (1T CuCl, & Sfe [Rrdse T390 F© TS [y At ?

(a) 4 Faradays (b) 1 Faradays (c) 2 Faradays (d) 3 Faradays

FAY: () ; Cu?* + 2e = Cu 1 mol Cu = 2F e

GO AN N0 S +1. G 18 3wz« 992 20 (NG FarR) afbd (o 7e47T 20eRs

(a) 18 (b) 19 (c) 20 (d) 21

ANYE: (b) ; —18 +x=+1q x = +19

3.5 g/cm? 99§ 3R 18.9g SEF OF 48 “idF 100 mL N9 GITX 50 mL 2S9 T4y CFT TR 1 GBITHR 0T
Al a e F© 2?7

(a) 44.6 mL (b) 72.4 mL (c) 55.4 mL (d) 68.9 mL

Y () ; v =— = =54cm® . (MG v =50+5.4 =55.4mL

A7 Rferad @ia< %S 391 Fe?™ + 2H* + NO3 — Fe3* + NO, + H,0 [Ans: c]
(a) Fe?* (b) H? (c) NO3 (d) H,0

HAAYI: FACRE Giae 7T S0, [Reiaesa wike A2t TS|

SehE FITE I 47 [Ans: c]
(2) GG ST SIS “Afi) T (b) 100 ml &1« “ifa=is) =t

(©) 93T FfE wier™ w3e el ==t C(d) 9P T Y @ i BIRG wat

Cu(en)?* SIAC ST AR T FS7? [en = A ©IZSTIfE]

(a) ] (b) 2 (c) 4 d) 6

STIY: (c) ; Cr fawal Fsire ©I AT et = 2x2 = 4
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Read the following passage and answer the question numbers 109-110 that follow:

Observe the dilemma of the fungus: it is a plant, but it possesses no chlorophyl. While all other plants put the sun’s
energy to work for them combining the nutrients of ground and air into body structure, the chlorophyl-less fungus
must look elsewhere for an energy supply. It finds it in those other plants which, having received their energy free
from the sun, relinquish it at some point in their cycle either to other animals (like us humans) or to fungi.

In this search for energy the funpus has become the earth’s major source of rot and decay. Wherever you see mould
forming on a piece of bread, or a pile of leaves turning to compost, or a blown-down tree becoming pulp on the
ground, you are watching a fungus eating. Without fungus action the earth would be piled high with dead plant life of
past centuries. In fact, certain plants which contain resins that are toxic to fungi will last indefinitely; specimens of
the redwood, for instance, can still be found resting on the forest floor centuries after having been blown down.

The title below that best expresses the ideas of this passage is: [Ans : a]
(a) The Strange World of Fungus (b) The Source of Rot and Decay

(c) The Harmful Qualities of Fungi (d) Life without Chlorophyll

The author uses the word 'dilemma’ to indicate that- [Ans : b]

(a) the fungus is both helpful and harmful in its effects

(b) the fungus seems to have its own biological laws

(c) the function of chlorophyll in producing energy is a puzzle to scientists
(d) no one understands how a fungus lives

For question numbers 111 to 114, chose the correct form of the verb given in the bracket from the options

provided:

Enchanted with the whole scene, I (linger) on my voyage. [Ans : b]
(2) am lingering (b) had lingered (c) was lingering (d) lingered

It being very hot day, I (remain) in my tent. [Ans : c]
(a) remained (b) had remained (c) remain (d) shall remain

He preferred playing football to (study) his lessons. [Ans : a]
(a) studying (b) have studied (c) study (d) had studied

A gypsy, (wander) across the heath, found the child. [Ans: c]
(a) wandered (b) wanders (c) wandering (d) had wandered

For question numbers 115 to 120, fill in the blank with an appropriate idiomatic expression chosen from the

corresponding list provided below:

The money market is a , and many people who work in it die of the stress. [Ans : a]
(a) rat race (b) maiden voyage (c) fool’s paradise (d) cash and carry

We have no in this affairs. [Ans : b]
(2) arm in arm (b) cat’s paw (c) part and parcel (d) art and part

I will be able to do my job very well as soon as 1 : [Ans : b]
(2) leave off (b) learn the ropes (c) follow one’s nose (d) perish the thought

Joan said she was just , but she bought a new coat. [Ans : a]
(a) pound the streets (b) on board (¢) window shopping (d) in good time

The firm makes huge profits, and the workers want a _ [Ans : b]
(a) blank cheque (b) lion’s share (c) new ball game (d) slice of the cake

The machine was destroyed owing to [Ans : d]

(ﬂ) acid test (b) all agog (c) ever and anon (d) wear and tear




